
 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 



• 

• 

• 



• 

• 

• 

• 



(𝑥) (𝑡)

𝑓

𝑓

𝑓 𝑓1

𝑓3



𝑥

𝑥

𝑥2

𝑥 =

 



𝑥

𝑘 𝑦 = 10𝑒𝑘𝑡

• 

𝑘

• 

• 𝑥 𝑦 𝑡 𝑦

[−𝜋, 𝜋]

𝑛

𝑛3

𝑛 ∈ ℤ ℤ



𝑥 𝑦

𝑓(𝑥) = 8𝑥3 + 12𝑥2 + 6𝑥 − 2 𝑓(𝑥)

𝑓(𝑥) = (𝑎𝑥 + 𝑏)3 − 𝑐 𝑎, 𝑏, 𝑐  𝑎, 𝑏,

𝑐



𝑔(𝑥) =
𝑥−3

𝑥+1
𝑔(𝑥) 𝑔(𝑥) = 𝑎 −

𝑏

𝑥+1

𝑥

𝑥 − 3

𝑥 + 1

𝑔(𝑥) = 1 −
4

𝑥+1

𝑦 = 1 𝑥 = −1

𝑦 = 𝑥 sin (𝑥)

𝑥 𝜋

 𝑦 = −(𝑥 − 𝜋)𝜋

 𝑦 = (𝑥 − 𝜋)𝜋

 𝑦 = −
1

𝜋
(𝑥 − 𝜋)

 

𝑦 =
𝑥

𝜋
− 1

𝑦 =
1

𝜋
(𝑥 − 𝜋)

𝑦 =
−1

𝑥 sin (𝑥)



𝑥

𝑡

𝑥

• 

• 



𝑦 = −20𝑥(𝑥 − 30)

𝑥



𝑥

𝑦

𝑥

𝑥

𝑦

𝑦

𝑥 → ∞ 𝑥 → −∞ ±∞

𝑦 = −2

 



𝑔: [0,  ∞) → 𝑅,  𝑔(𝑥) = √𝑥 + 4

 𝑔

 𝑓: (−∞,  𝑝] → 𝑅,  𝑓(𝑥) = 𝑥2 + 𝑥 − 6 𝑝 < 0

𝑝 𝑔 ∘ 𝑓

𝑔 ∘ 𝑓

𝑔 ∘ 𝑓

𝑔

𝑥 = 0 𝑦

𝒓𝒂𝒏 𝒈 = [𝟐,∞)

 



𝑥 𝑝

𝑔(𝑓(𝑥))

𝑓(𝑥)

𝑔(𝑥)

𝑔(𝑥) [0,∞)

𝑓

[0,∞)

𝑓 [0,∞)

𝑥 ∈ (−∞,−3] 𝑥 ∈ [2,∞) 𝑓

(−∞, 𝑝] 𝒑

𝑑𝑜𝑚 𝑔 ∘ 𝑓 = (−∞,−3]

𝑓(𝑥)

𝑔1(𝑓1(𝑥))

𝑟𝑎𝑛 𝑔 ∘ 𝑓 = [2,∞)

 



• 
180

𝜋

𝜋

180

𝜋
𝜋

• 



𝑃 𝑃 ℎ

ℎ(𝑡) = 65 − 55 cos (
𝜋𝑡

15
) 𝑡

 

𝐵

𝑃1 𝐵 𝐶

 𝜃

ℎ(𝑡)

𝑇𝑖𝑚𝑒 (𝑝𝑒𝑟𝑖𝑜𝑑) =
2𝜋

𝑛
=

 2𝜋
𝜋

15

= 30 𝑚𝑖𝑛𝑢𝑡𝑒𝑠

𝜃

𝜃

ℎ(𝑡)

tan−1 (
65

500
)

180

𝜋



𝑑

𝑑𝑓1(𝑥)

𝑓1

𝑑𝑓1(𝑥)

𝑐 𝑡

𝑐(𝑡) = 𝐴𝑡𝑒−𝑘𝑡, 𝑡 ≥ 0 𝐴 𝑘 ∈  ℝ+

𝐴 𝑘

𝐴 𝑘

𝑡



𝑥

𝑔(𝑥) = −𝑥(𝑥 − 20)

𝑥 = 5

𝑔

𝑑𝑔1(𝑥)

𝑔

𝑥 ∈ [0, 5]

𝑦2−𝑦1

𝑥2−𝑥1

𝑔

𝑦2 𝑦1 𝑔1(5)

𝑔1(0)

𝑥

𝑥

𝑑

𝑑𝑥
= 0 𝑥

𝑦

𝑥

 



𝑥

𝑠1(𝑡)

𝑓: [0,5] → 𝑅, 𝑓(𝑥) = 2𝑥

𝑥

𝑔(𝑥) =
16−𝑥2

4
𝑃 𝑦

𝐷(0, 𝑘) 5 ≤ 𝑘 ≤ 8 𝑘

𝐴(𝑘) =
𝑘2

2√𝑘−4
−
32

3

 

𝑘

 

𝑘



𝑘

𝐴(𝑘)

• 

• 𝐴(𝑘)

𝑘

𝐴(𝑘) 𝑦

∴ 𝑀𝑎𝑥: (8,
16

3
)

∴ 𝑀𝑖𝑛: (
16

3
,
64√3

9
−
32

3
)

𝑥

𝑥

𝑦 = 𝑥2 + 2𝑥 + 3 𝑥 = 1

𝑦 = log𝑒(𝑥 − 2) 𝑥 = 3



𝑅: [0,  ∞) → 𝑅,  𝑅(𝑡) = 20 log𝑒(𝑡 + 1) 𝑅

𝑡

𝑃 𝑡

𝑅(𝑡)

𝑅(𝑡)

𝑅(𝑡)

+𝑐

+𝑐

𝑐 = 50 𝑃(𝑡) = 20(𝑡 + 1) log𝑒(𝑡 + 1) − 20𝑡 + 50

 



𝑐

∫ 𝑓(𝑥)
𝑥

𝑥1
𝑑𝑥 + 𝑦1

𝑓(𝑥) 𝑥

𝑥 (𝑥1, 𝑦1) 𝑥

𝑐

𝑥1 𝑦1

𝑓(𝑥) 𝐹(𝑥)

𝐹(𝑥) = ∫𝑓(𝑥) 𝑑𝑥 + 𝑐

𝑐 𝑥1, 𝑦1) 𝑐

∴ 𝐹(𝑥1) = ∫𝑓(𝑥1) 𝑑𝑥 + 𝑐

𝑦1 = ∫𝑓(𝑥1) 𝑑𝑥 + 𝑐, 𝑎𝑠 𝐹(𝑥1) = 𝑦1

𝑐 = −∫𝑓(𝑥1) 𝑑𝑥 + 𝑦1

𝑐 𝐹(𝑥)

𝐹(𝑥) = ∫𝑓(𝑥) 𝑑𝑥 − ∫𝑓(𝑥1) 𝑑𝑥 + 𝑦1

𝐹(𝑥) = [𝐹(𝑥)]𝑥1
𝑥 + 𝑦1

𝐹(𝑥) = ∫ 𝑓(𝑥)
𝑥

𝑥1

𝑑𝑥 + 𝑦1

 



𝑦 = 𝑥(𝑥 − 2)(𝑥 − 4)

𝑥 = 0 𝑥 = 4

𝑥

𝑥 = 0 𝑥 = 4

𝑥 𝑥

𝑥 ∈ [2,4]

• 

• 

𝑥

 



 



Pr(𝑓𝑖𝑟𝑠𝑡 4, 𝑡ℎ𝑒𝑛 2 𝑜𝑢𝑡 𝑜𝑓 4) = (0.8)4 + (4
2
)(0.8)2(0.2)2 = 0.062915

0.62915

0.2936
= 0.214

 



• 

Pr(𝑋 ≥ 3) > 0.95 𝑋

1 − Pr(𝑥 = 0) − Pr(𝑥 = 1) − Pr(𝑥 = 2) > 0.95

Pr(𝑋 = 𝑥) = (𝑛
𝑥
)(𝑝)𝑥(1 − 𝑝)𝑛−𝑥 (𝑛

𝑥
)

𝑛 0, 1,  2

𝑛 = 123.748



• 

𝑋 = 0, 𝑋 = 1, 𝑋 = 2

𝑏1

 



𝑇(𝑥) =

{
 
 

 
 
1

3
𝑡 −

10

3
    𝑖𝑓 10 ≤ 𝑡 ≤ 11

−1

15
𝑡 +

16

5
    𝑖𝑓 11 ≤ 𝑡 ≤ 16

0                             𝑜𝑡ℎ𝑒𝑟𝑤𝑖𝑠𝑒

𝑡 = 10

𝑥



𝑚

𝑚

 𝑚 

𝑚

𝑚

𝑚

𝑚 ∈ [10,16]

𝑝



𝑉𝑎𝑟(𝑋) = 𝐸(𝑋2) − [𝐸(𝑋)]2 𝐸(𝑋2)

[𝐸(𝑋)]2

[𝐸(𝑋)]2

√𝑉𝑎𝑟(𝑋)

𝑆𝐷 = √
31

18
=

√62

6

 



• 𝑥

𝑥

Pr (𝑋 < 𝑥)

𝑥

Pr (𝑋 > 𝑥)

• 

−∞

∞

 

 

 



Pr (𝑋 < 68.5) (−∞, 68.5)

(65.6, 68.4)

• 

• 

• 

• 

Pr (65.6 < 𝑋 < 68.4) Pr (𝑋 < 68.5)

∴ Pr(65.6 < 𝑋 < 68.4| 𝑋 < 68.5)

 



𝑥

Pr(𝑋 > 𝑥) = 0.3

𝑍

𝑧 =
𝑥 − 𝜇

𝜎

𝑥

𝑧 𝑥

 

Pr(65.5 < 𝑋 < 68.4) = 0.99

𝑥

 



Pr(𝑋 < 65.5) = 0.005

𝜎

𝑧 𝑧

𝑥

𝑧

𝑧 = −2.5783

𝜎

𝜎 = 0.58

 



𝐴𝑝𝑝𝑟𝑜𝑥𝑖𝑚𝑎𝑡𝑒 𝑐𝑜𝑛𝑓𝑖𝑑𝑒𝑛𝑐𝑒 𝑖𝑛𝑡𝑒𝑟𝑣𝑎𝑙 = (𝑝̂ − 𝑧√
𝑝̂(1 − 𝑝̂)

𝑛
, 𝑝̂ + 𝑧√

𝑝̂(1 − 𝑝̂)

𝑛
)

𝑧

𝑝

𝑧

𝑧

𝑧

𝑧

 



 𝑝

 𝑝

𝑝̂

𝑝̂ =
9

100
= 0.09

𝑝̂

 



 

• 

• 

• 

https://www.connecteducation.com.au/classes

